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Question 1.Select the related word/letters/numbers from the given alternatives:
38 m fawedi o ¥ YafRia Wea/31eRl/e & gul
Sanitation : Iliness :: Care : ?

WSl : SHRT :: EYE ; ?
Options:

1) Rest

SIRH

2) Ignore

Juarn

3) Accident

4) Suggestion
SEC]

Correct Answer: Accident

gde

Candidate Answer: Accident

gde

Question 2.Select the related word/letters/numbers from the given alternatives:
30 T fadeul & ¥ dafRId ec/S1eRrl/<Rem & gMHul

GrtK: KtrG :: FjbH : ?

Options:

1) HbjF

2) jHbF

3) FbjH

4) HjbF
Correct Answer: HbjF
Candidate Answer: HbjF

Question 3.Select the related word/letters/numbers from the given alternatives:
38 A fawedi o ¥ YafRia wea/31eRrl/e & gful

20:11::102:°7

Options:
1) 49

2) 52
3) 61

4) 58
Correct Answer: 52
Candidate Answer: 52

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

fFrafaRad oy & fau Tu et # & fawe ree/ sfer/<e gm &l gy ?
Options:

1) Man : Garage

3T : IR

2) Pig : Sty

g3 : [P

3) Horse : Stable

°IgT : 3RAdd

4) Cow : Shed

g : R

Correct Answer: Man : Garage
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3reHt : IR
Candidate Answer: Man : Garage

et : IR

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

fafaRed oy & fu e fawedl O 4 fawy <reg/sier/d@ &I gHT 2
Options:
1) WU

2) DBA
3) NML

4) HGF
Correct Answer: DBA
Candidate Answer: DBA

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

frafoiad uy & U e fawedl # & fawH g/ 31eR/Te &I gy ?
Options:
1) 1629

2) 3418
3) 2349

4) 1834
Correct Answer: 1834
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per order in the dictionary.
FafaRed wsal & Asad T § AT U A & SR fafau »

1. Exploit 2.Explosive 3.Exponent 4.Exposition 5.Explore

Options:
1)1,3,4,5,2

2)1,5,2, 3,4
3)1,5, 3,2 4

4H1, 25,3, 4
Correct Answer: 1,5, 2, 3,4
Candidate Answer: 1,5, 2, 3, 4

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

fufaRed uy & e s 3o w8, o w ue g g1 AU Y fawedt & 9 a8 el fAwed gie S 3rIehd &) O ST ?

CAR, GCO, KEL, OGI, ?

Options:
1) SIK

2) SIF
3) TIK

4) TIL
Correct Answer: SIF
Candidate Answer: SIF

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

fFrafifad vy & o srgwd o man g, 9w t& ue g 7| IRu U fAwedl & 9 95 ue fAded IHT St srgepd &1 g1 S ?

100, 50, 52, 26, 28, ?, 16, 8
Options:
1) 14

2) 30

3) 32



4) 38
Correct Answer: 14
Candidate Answer: 14

Question 10.Mithilesh said to Neha, "Your only brother's son is my wife's brother.' How is Neha related to the wife of Mithilesh?

UQe 3 78T ¥ BT, " TR B HIE BT T B Uell T WIS 1" 8T 1 YA 1 Ut I Gt 98y ?
Options:

1) Aunt

g3{1

2) Mother-in-law

SIS

3) Sister

g8
4) Mother
HidT

Correct Answer: Aunt
g311

Candidate Answer: Aunt
g311

Question 11.W, X, Y and Z are four friends. W is shorter than X, but taller than Y, who is shorter than Z. Who is the shortest among all?

W, X, YIRZIRFARZIW, X BT APA YA, N b ZA BT gl 37 IR H TeA BT HH @ ?

Options:
1HwW

2) X
3)Y

4)7Z
Correct Answer: Y
Candidate Answer: Y

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word.

frafaRad faweal & ¥ 98 s g N T T4 Weq & 31&RT &1 TANT IR -To] ST Il Fhdll ?

SPECULATION

Options:
1) SPECIAL

2) TOPIC
3) SECULAR

4) CAUTION
Correct Answer: SECULAR
Candidate Answer: SECULAR

Question 13.If A = 26 and X-RAY = 40, then WHAT =?

Tfe A = 26 3R X-RAY = 40 &, af WHAT fhad sRTeR I 2

Options:
1)52

2) 54
3) 56

4) 58
Correct Answer: 56
Candidate Answer: 56

Question 14.If 'A' stands for '+, 'B' stands for '-' , 'C' stands for 'x' , what is the value of (10C4)A(4C4)B6 = ?
e 'A' BT Hadd '+ B, 'B' P AT '-' 3R 'C' BT AW 'X' 8, ol (L0C4)A(4C4)B6 = ?

Options:

1) 46

2) 50

3) 56

4) 60
Correct Answer: 50
Candidate Answer: 50

Question 15.If 324289 = 35, 4419484 = 43, then 6259400 = ?



Tl 324289 = 35, 441484 = 43 B, Tl 6256400 HT HH FIT T ?

Options:
1) 431

2) 413
3) 341

4) 143
Correct Answer: 143
Candidate Answer: 431

Question 16.Select the missing numbers from the given alternatives
12848412412810044°?

f3u TTC fawedl & T g 3 T BHifoTg ?
128484124128100447?
Options:

1) 80

2) 56
3) 48

4) 36
Correct Answer: 56
Candidate Answer: [ NOT ANSWERED ]

Question 17.A person started walking towards West and covered a distance of 15m, he turned right and walked 10m. Again he turned right and walked 5m and in the
end he turned left and walked 15m. Which direction is this person facing now?

U Aot A UfEH BI SR T R b ofR 15 Hiex &1 g 77 11 R 98 3T gear 10 Hiex Ial| I& d1a 3T G 5 He e 3R 3fd # 98 i g$aR 15 Hiex
TS| 3 I A o1 4 fpg fean d g 2

Options:

1) North

IR

2) South

aférmn
3) East

4) West

Correct Answer: North

Candidate Answer: North
IR

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements:

1. All cycles are ducks.

2. All ducks are swans.

Conclusions:

L. All swans are cycles.

II. Some swans are cycles.

fufafad uy & e a1 3 9adoy 33 T 7, o9 3 3 Fses/amadig, 1 3R I R T €1 3! faaR &A1 @ fb 9ador 9 © IR 98 IMd: Xd 9 397 Udid 8id
g1 3ge! vl &1 3 o6 feT U gader & ¥ o Rif¥d U 3 T8t e s/amuar e S 9l § ? 9adod @ 1. 9 Isfed s g1 2. 9 o g9 81 ey ;1
Tt €9 Ui 8| 11 0 g9 IRfha g1

Options:

1) Only conclusion I follows

Fad Awpy 1 9T B

2) Only conclusion II follows

Fad Fepy 198 |

3) Both conclusion I and conclusion 1I follow

s 1 3R 11 ST TR §

4) Neither conclusion I nor conclusion II follows

T Fepy 1 9E) € eiR 1€l e 1 agt B

Correct Answer: Only conclusion II follows

Fad Awpy I I8t g1

Candidate Answer: Only conclusion II follows

Fad FAwpy I I8t g1

Question 19.Find the number of triangles in the given figure?

&S srrepfar B Rl &) G 1 e ?
Options:
1)8

2) 10



3) 12

4) 14
Correct Answer: 14
Candidate Answer: 12

Question 20.Which of the diagrams given below correctly represents the relationship among WOMEN, MOTHERS, SPINSTERS

FofaRed & 9 oH-11 3@ AU T Wea! & s Te! e & g=1idT & | Afgey, Ay, srfaanfgany
Options:
1)

OO0

3)

4)

Correct Answer:

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

Ffafed & I HH-3 IWR HA Uy MH & Ufaey & -1 Hft 2

i

"

Options:
1)

’

3)



i

Correct Answer:

’

Candidate Answer:

’

Question 22.From the given answer figures, select the one in which the question figure is hidden.

31 7T IR Spfadl H ¥ I IR 3Mpid B AT rad uy spfa Ffgd Bl

]

Options:
1)

2)

3)

4)



Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

Ife; ol et Y, < Ty Sl B faRaT SR HISahR PIeT S dl Wie & S 98 g IR AThia or g 2 2

T cHHH T
N e e
/ : REH
I i I
Options:
1)
o o
o O
O lo]
o O
oo
o )
2)

oOC O OO0
o000 000

3)
o
L AP
o0
000
0.0
o O
O Q
4)
0 0
0 0
0 0
2 8
0 0
0
o o0

Correct Answer:



3

0

oo L e ]

oo
oo OO

o

Candidate Answer:

Q

O

Q

00 QOO0
o000

o 0

)
o

O

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

gfe; T UUT I MN YT TR 3T STt € 718 ITR MBI B F -3t Spfa Uy i o1 It ufafera gift 2

LA AL A A

Options:
1)

2)

3)

Candidate Answer:



Question 25.1In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., S can be represented by 02,11, etc.,
and 'L' can be represented by65, 86, etc. Similarly you have to identify the set for the word 'GATE'

I T 50 T [ (R A
0 0] T 5 G M 3 & E L K |

1 T 5 G M D & L K I A E
2 5 G M D T 7 K I A E L
3 G M D T 5 8 E L K I A
4 M B T 5 ] 9 | A E L K

T Vg $Had Uh GA-GHg GRI G2 741 8, S o Apedt & 3 et wes & oo man 81 faswedt ¥ U U T 9gg 31ert & & avif gR1 <=fe 7Y 8, S fas =g low g
&l [ 1 3T 1P WM 3R Uat bl TR0 W 4 AR Mg N B 5F9 N 81 37 [ U 3feR BT Ugd I Uadt 3R 18 F T TRSAT gRT SIS
Tl |§a3w$%u'5'ﬁoz, 11 S GRT 1T ST vl § qUl'L ' & 65, 86 31 GRT ST bl ¢ | 3 ARG U MU 3T §U Wed 'GATE & oW g &t
TEIH 2|

Options:

1) 30, 89, 11, 57

2) 21, 68, 34, 78

3) 21, 96, 24, 78

4) 12, 89, 42, 68

Correct Answer: 21, 96, 24, 78

Candidate Answer: 21, 96, 24, 78

Question 26.Which institution is known as 'Soft Loan Window' of World Bank?

D q TR B Y §F & Gau ol [AS & 19 J ST A § 2
Options:

1) IDBI

R 3Neifies e o

2) IDA

ST

3) IMF

SI<RIPT GaT By

4) RBI

YR Rord S

Correct Answer: IDA
ST

Candidate Answer: [ NOT ANSWERED ]

Question 27.Which curve shows the inverse relationship between unemployment and inflation rates

B T Ih RIS 3R YT Whifa-aR F Jae B ufdaia: o=iiar g ?
Options:

1) Supply curve

qid I

2) Indifference curve

SR ah

3) IS curve

38 TF I

4) Phillips curve
fohfery ach

Correct Answer: Phillips curve

fofore
Candidate Answer: [ NOT ANSWERED ]

Question 28.The longest sea beach in India is

YR B o o g - e (I - FF ) dei g ?
Options:

1) Chapora beach

ELIRGHEIE)

2) Diu beach

dig dc (&)

3) Aksa beach

3T de ()

4) Marina beach

TR o

Correct Answer: Marina beach

AT

Candidate Answer: Marina beach

EREIICIE)

Question 29.The Jammu and Kashmir State Legislative Assembly has a tenure of




TH-HRUR I fAYF T &1 SdriwTa fha- a8 &1 gl § ?

Options:

1) Six years

6 a9

2) Five years
599

3) Four years
4Ty

4) Seven years
7 9

Correct Answer: Six years
6 Iy

Candidate Answer: Six years
L

Question 30.Which one of the following Committees is described as the 'twin sister' of the Estimates Committee?

fofafed & 3 o= & afbfa @ ueed 9ffa @1 'Ssai 587 HeT o g ?
Options:

1) Public Accounts Committee

S CIRSIEI

2) Committee on Public Undertakings

e IS It

3) Departmental Standing Committee

fauria wrdt fifa

4) Privilege Committee

Correct Answer: Public Accounts Committee

RIEASICIIEITH

Candidate Answer: Public Accounts Committee

RIEASICIRIEITH

Question 31.Potato is a ?

T TS ?
Options:
1) Root
Slg

2) Stem
god

3) Bud

Ca|

4) Fruit
o
Correct Answer: Stem
god

(;andidate Answer: Stem
Sod

Question 32.English education was introduced in India by

HRA H 3Gl RIaf fbe SRey i 2
Options:

1) Curzon

Hoi

2) Macaulay

3) Dalhousie

4) Bentick

Correct Answer: Macaulay

Candidate Answer: [ NOT ANSWERED ]

Question 33.Short term contractions and expansions in economic activity are called

3 forararadl & e wifeis Ygpa SR fadR &) o1 Hgd § ?

Options:
1) Expansions

2) Recession

Tt

3) Deficits

HIcT

4) The business cycle
I deh

Correct Answer: The business cycle
™ deh

Candidate Answer: The business cycle
™ deh



Question 34.Which one of the following region is most rich in coal deposits?

Fafifed & § B a1 & HIa-YeR § Ted e I9E © ?
Options:

1) Bramhaputra Valley

ERRERIG

2) Damodar Valley

MR dret
3) Mahanadi Valley

HeHC! °rcl

4) Godavari Valley
et

Correct Answer: Damodar Valley
e Urct
Candidate Answer: [ NOT ANSWERED ]

Question 35.Rainfall caused by intense evaporation in equatorial areas is called

YAegadf &F o T8 AT & HRUT g JTe auf Bl 1 HEd § ?

Options:
1) Orographic rainfall
g4y auf

2) Cyclonic rainfall

3) Frontal rainfall
CIIZEEL
4) Convectional rainfall

Gag-t auf
Correct Answer: Convectional rainfall
Hag-t auf

Candidate Answer: Convectional rainfall

HagHt aui

Question 36.Haematopoiesis take place in

I FEl gl | ?
Options:
1) Lungs

2) Pancreas
STURK

3) Liver
R

4) Bone marrow
Y Tl

Correct Answer: Bone marrow
3TY T

Candidate Answer: Bone marrow

3R Tl

Question 37. is @ hormone that regulates the amount of glucose in the blood

DI T g ad H b1 B 7T FdRd HRar g ?
Options:
1) Glucogen

2) Thyroxine
YRR

32J Oxytocin
SHTAICIRA
4) Insulin

e

Correct Answer: Insulin

Fgfer

Candidate Answer: Insulin

e

Question 38.Wall Street collapse led to

Jid i T R & T IS TR S I 1 gUE g7 ?
Options:

1) World War II

fadia Ter”gs

2) Recession

A=l
3) U.S. attack on Iraq

P TR 3(HABT BT 3MHHUT
4) Great Depression

Correct Answer: Great Depression

HETHC



Candidate Answer: Great Depression

!

Question 39.Gandhara Art is the combination of

YR el fa & eraft o1 T § ?
Options:
1) Indo - Roman
&g - Jm
2) Indo - Greek
fga - g
3) Indo - Islamic
feq - I
4) Indo - China
EISi|

Correct Answer: Indo - Greek
fgq - g

Candidate Answer: [ NOT ANSWERED ]

Question 40.If electric resistance is to be decreased, then the number of resistances should be connected in

Ife; g iRy HH AT 81 ot UiRien! 31 TRe & faey Sive1 91fe ¢ 2
Options:

1) Series

TTer (RIS

2) Parallel

AR

3) Mixed arrangement

fafsa sgaw

4) None of these

$TH Y BIE T8

Correct Answer: Parallel
HHTR

Candidate Answer: Series

ATa (R

Question 41.Related to computers, what is 'Wetware' ?

HIR $ Yo § 9e IR AEAT® ?
Options:
1) Computer programs

DY
2) Circuitory

3) Human brain

Hq-HiTSh

4) Chemical storage devices

BRI BIECR D YR

Correct Answer: Human brain
THa-HRKTh

Candidate Answer: [ NOT ANSWERED ]

Question 42.Indira Goswami, the famous editor, poet, scholar and writter won the Jnanpith Award in which language?

URIG TTed, B, fagH ok dfawT ST andt & &F Iy & forg IHdie qeeR foar mn 2
Options:

1) Bengali

CHI]

2) Odia

3) Assamese

3rgteEn
4) Hindi

fe=t

Correct Answer: Assamese

ST
Candidate Answer: [ NOT ANSWERED ]

Question 43.Ultraviolet radiation in the stratosphere is absorbed by

A Hed § GRS 3o fiaes gRT Sraenfid fasar S § 2
Options:

1) SO,

SO,

2) Ozone

3T

3) Oxygen

SieRiTor

4) Argon

Correct Answer: Ozone



3l

Candidate Answer: Ozone

Question 44.All isotopes of the same element have

UM dd P It ey H R EaT g ?

Options:

1) different atomic numbers and different atomic mass

o RO wHid SR g TREmIfds defd

2) different atomic nhumbers and the same atomic mass

o RATRAE FHiE 3R Te o IRATIAS e

3) the same atomic number but different atomic masses

T ol TRATIaS HHid fheg e wramfas Tgfd

4) the same atomic number and the atomic mass

TS SR IRATAS HHiew SR Th oIl IRATOa Tgfa

Correct Answer: the same atomic number but different atomic masses
% S A0S SIS g e wemfas Tgfa

Candidate Answer: the same atomic number but different atomic masses

T S IR i fobeq st TRAIds efa

Question 45.Nitric acid does not react with

TRfe® ona Fufafad # § faes ary siivfsar 78 sar g 2
Options:

1) Gold

Tquf

2) Copper
GIEll

3) Zinc
ST

4) Iron

Correct Answer: Gold

andidate Answer: Copper
GIEN

Question 46.Nandadevi peak is located in State

Faredt =it forg Iou # Ry g 2
Options:

1) Himachal Pradesh
IREIENRCEEY

2) Uttarakhand

JTRIAUS

3) Uttar Pradesh

IR UK

4) Sikkim

IBIES]

Correct Answer: Uttarakhand
SRIAUS

Candidate Answer: Uttarakhand

Question 47.Which one of the following industries is known as 'Sunrise Industry' ?

Fofifed § I o I ST ' Jafeg I FRTAET S ?
Options:
1) Iron & Steel
3R T
2) Cotton Textile
il I
3) Information Technology

4) Tea & Coffee

T 3R BB

Correct Answer: Information Technology
BCRIIEITEH)

Candidate Answer: [ NOT ANSWERED ]

Question 48.The material used in electric heater

is...

feTelt & Flex & DIl IRl vge gl & ?

Options:
1) Tungsten

2) Nichrome

3) Brass



LiG]
4) Steel

ELCIG
Correct Answer: Nichrome

Candidate Answer: [ NOT ANSWERED ]

Question 49.Pellagra and Scurvy are caused by which pair of vitamin deficiency respectively

AR 3R W d! HHRT: DI I fAeTi-l & HH & HRUT G § ?
Options:

1) Vitamin C and Vitamin D

faetiq & ok faefim &

2) Vitamin B-12 and Vitamin C

faeTfm d-12 SR faera= <t

3) Vitamin C and Vitamin A

faeti= @ ok e ©

4) Vitamin A and Vitamin B-12

fae1i= ¢ ok ferfm &t-12

Correct Answer: Vitamin B-12 and Vitamin C
faetim dl-12 3R e <t

Candidate Answer: Vitamin B-12 and Vitamin C
fFerfeq di-12 3R fgerfom I

Question 50.Who appoints the Finance Commission in India?

YR & A<t 3manT &t FAgfad & wrar g ?
Options:

1) Governor, R.B.L.

TaR, URd Rerd d&

2) CAG of India

YRd & U= TaH HeTeran Wigs

3) President of India

URd &

4) Central Finance Minister

Py fo e

Correct Answer: President of India

HRd & AFUfd

Candidate Answer: President of India

HRd & AFUfd
Question 51.A can do a certain job in 12 days. B is 60% more efficient than A. Then B can do the same piece of work in

A feft & @Y 12 37 T R THaT 8 3R B, AV 60% 3T HRI-HIA § | TARY B 3T B &I fha faT § o 2
Options:

1) 8 days

g faa

2)

?1d ;
5 days

1
?Eﬁ—rr
3)

61 day.
3 dars

1

Eaﬁ?f

4) 6 days
6 fa
Correct Answer:

?1d ;
5 days

1
'}I‘ e E u_-|
2
Candidate Answer:

?1d ;
5 days

1
?Eﬁ—rr

Question 52.A rectangle with one side 4 cm is inscribed in a circle of radius 2.5 cm. The area of the rectangle is:

T 3T, Forest T oi 4 .11, 8, {5t 2.5 .1ft. Bisar o g7 & 81 31ad &7 8B d 1 R ?
Options:

1) 8 cm?

8 4.1.2

2) 12 cm?



12 94.41.2

3) 16 cm?

16 9.41.2

4) 20 cm?

20 9.41.2

Correct Answer: 12 cm?

12 94.41.2

Candidate Answer: [ NOT ANSWERED ]

Question 53.A merchant marked cloth at Rs. 50/metre . He offers 2 successive discounts of 15% and 20%. The net price/metre is :

DTS AR HUS W Rs. 50 Ui WY T 3ifhd a1 § 1 98 HHIM: 15% 3R 20% Fe <dl & | Ufd Ho FHae (Ae) Hiud T grf 2

Options:
1) Rs. 32.50

2) Rs. 42.50
3) Rs. 34.00

4) Rs. 40.00
Correct Answer: Rs. 34.00
Candidate Answer: Rs. 34.00

Question 54.3 brothers divided Rs. 1620 among them in such a way that the share of second is equal to 5/13 of share of other two, combined. What is the share of
the second one?

T urSar  SMI A Rs. 1620 T AR VY 1T i GIR UL BT 3177 < LT & Tgad R 1 5/13 e fiyamm| gem Wie o1 fexan e 8 2
Options:
1) Rs, 1170

2) Rs. 450
3) Rs. 540

4) Rs. 500
Correct Answer: Rs. 450
Candidate Answer: [ NOT ANSWERED ]

Question 55.A dealer marks his goods 20% above their cost prices. Then,he allows such a discount on the marked price so that he makes a profit of 8%. The rate of
discount is:

?w@ﬂmﬁ%wmwwﬁzm 3R R siftrd a1 71 R 98 siftrd e IR T Ut Be <l & Ol 3 8% &1 oY gidT 51 fad & areht ge
AT ?

Options:

1) 12%

2) 10%

3) 6%

4) 4%

Correct Answer: 10%

Candidate Answer: 10%

Question 56.The salary of a person is reduced by 20% . To restore the previous salary, his present salary is to be increased by

forelt faa &1 dd- 20% HH fohaT 17| I Db R 99 IR A o oY 3P addH dd- D [T SGHT R 2
Options:

1) 20%

2) 25%

3) 17.5%

4) 22.5%

Correct Answer: 25%

Candidate Answer: 25%

Question 57.Two buses travel to a place at 45 km/hr and 60 km/hr respectively. If the second bus takes 52 hours less than the first for the journey, the length of the
journey is:

& 9 HHRT: 45 {35, Y. /aver 3R 60 .. /aueT ot 91a & IE1 AR I 51 NS GIR) 9 TS 99 Bt U AR H 5 1, UUS HH Al § dl Sgy I foha-T g 2
Options:

1) 900 km

900 fob. .

2) 945 km

945 fop .

3) 990 km

990 fab. .

4) 1350 km

1350 fobs. .

Correct Answer: 990 km
990 fob.HT.

Candidate Answer: 990 km
990 fob.H.

Question 58.
1 1

If (x +=): (x-—) = 5:3,the the value(s) of x is [ are
x x



a7e (x +§]: [x—ij = 5:3 @I dl x &l AT ddAIST ?

Options:
1)+1

2)+2
3)+3

4)0
Correct Answer: +2
Candidate Answer: +2

Question 59.An exterior angle of a triangle is 115° and one of the interior opposite angle is 45°. Then the other two angles are

foeft BT T S1RT P17 115° § 3R U SHTIRD TG HI0N 45° BT | Al 37T &l HIVN BT AT FA3Y ?
Options:
1) 65°, 70°

2) 60°, 75°
3) 450, 90°

4) 50°, 85°
Correct Answer: 65°, 70°
Candidate Answer: 65°, 70°

Question 60.
InaAABC,2A+ 2B=75%and £B + 2C = 1409, then £Bis

TS AABC, A+ 2B =759, 2B + 2C= 1400, AT 2B ST BIIM?

Options:
1) 40°

2) 35°
3) 55°

4) 45°°
Correct Answer: 35°
Candidate Answer: 35°

Question 61.
The value of (1+tan®@)(1-5in’0) is

(1+tan28) (1 — sin?8)ehT HIeT FAT BIIN?

Options:
1)2

2) 1
3) -1

4) -2
Correct Answer: 1
Candidate Answer: 1

Question 62.If 4x2 - 12x + k is a perfect square, then the value of k is

g 4x2 - 12x + k Iof a7 g1 Y k HT AF Ry ?
Options:
1) 2

2)9
3) 12

4) 10
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

Question 63.(1132 + 1152 + 1172 - 113 x 115 - 115x 117 - 117 x 113) is equal to

(1132 + 1152 + 1172 - 113 x 115 - 115 x 117 - 117 x 113) fFTd TR & ?

Options:
1)0

2) 4



3)8

4) 12
Correct Answer: 12
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average of runs scored by a cricketer in his 99 innings is 99. How many runs will he have to score in his 100th innings so that his average of runs in
100 innings may be 100?

it fobobe faare! gRT Tl TR 99 IR # ISP gRT SR T 341 T 3¥d 99 B 1 1009t URY H I fobd= I s 8 a1 100 TTRAT T I AT T 3iFd 100 BT 91T ?
Options:
1) 100

2) 99
3) 199

4) 101
Correct Answer: 199
Candidate Answer: 199

Question 65.

If rsinf = 1, rcosf = V3 then the value of ritanf is

aﬁ rsind = 1, rcosé = 3 Fl"frfmnEEbTﬂFl m ?
Options:
1)4

2)

V3

3)
4

V3

4) 4V3

Correct Answer:
4

V3
Candidate Answer:
4

V3
Question 66.If p> - q> = (p- q) ((p - q)% +x p q ) then value of x is

A p3- g3 =(p-q) ((p-q)? +xpq) Tl x B HA I IS ?
Options:

1)1

2) -1

3)3

4)2
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

Question 67.

If {aﬁ%)-’- = 3,thenthe value of a’® + a'?+ a%+ 1lis

1
G (@ + )2 = 3T + a2 + af + 1 HIA A DI ?

Options:
1)3

2) 1
3)0

4)2
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 68.The top of a broken tree touches the ground at a distance of 15 m from its base. If the tree is broken at a height of 8 m from the ground, then the actual
height of the tree is



forddt T¢ & o1 2 U I8 I U 15 T, &t g8 R YA 31 g 3| Il g& YH A 8 Wt Y Sas W geT 8l dl & B gad: SdTs 1 &t ?

Options:
1) 17 m
1718
2)20 m
20
3)25m
25
4)30m
30

Correct Answer: 25 m

25

Candidate Answer: 17 m
1718

Question 69.In APQR, straight line parallel to the base QR cuts PQ at X and PR at Y. If PX:XQ = 5:6, then the XY:QR will be

T APQR H 3MTYR QR & THR TR ¥WT PQ &I X TR 3R PR BT Y WR HIed! g1 TS PX:XQ = 5:6 81 al XY:QR FT 81 ?

Options:
1)5:11

2) 6:5
3) 11:6

4) 11:5
Correct Answer: 5:11
Candidate Answer: 5:11

Question 70.A man borrowed some money from a private organisation at 5% simple interest per annum. He lended this money to another person at 10% compound
interest per annum, and made a profit of (1 26,410 in 4 years. The man borrowed

forelt aafaa = foreit ol W13 ¥ 5% d1te TRl W & X W DIs AR SYR o | TARA I 98 A ot 3= Afdd Bl 10% IS Fhie S TR G & 3R 9
R34 T H () 26410 BT ATH §3MT| I Afad = e T JUR o off 2

Options:
1) 200000

2) 150000
3) 132050

4) 100000
Correct Answer: 100000
Candidate Answer: [ NOT ANSWERED ]

Question 71.

From two points, lying on the same horizontal line, the angles of elevation of the top of
the pillarare @ and @ (8 < @). If the height of the pillaris *h'm and the two points lie on
the same sides of the pillar, then the distance between the two points is

veR i Afa= Yo w ey st @, e whwr & find & 302 A7 6 30K e(e<e) E
afy st 1 39 ne A § AN fig T & ow R 6 & S R & der
gl aane?

Options:
1)
h(tanf® — tan @)m

2)
h(cot® — cotd)m

3)
h{cot® — cot@®)m

4)

tanf tand
tand—tang

Correct Answer:
h{cotd — cot@)m

Candidate Answer: [ NOT ANSWERED ]

Question 72.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.
TY IR W | 98 2008-2013 F GRM T 3R HR & HRUI §5 TSH U3 & WA Pl S=far 71 § | W BT &g HIfTg 3R T=A! & IR SIfoTg |
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The total number of road accidents in the year 2009, 2011 and 2013 combined together is

e 2009, 2011 3R 2013 & Hot AR TSH geleTant o) Weam farait § 2
Options:
1) 180000

2) 110000
3) 70000

4) 160000
Correct Answer: 180000
Candidate Answer: 180000

Question 73.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.
TY IR W | 98 2008-2013 F GRM T 3R HR & HRUI §5 TSH U3 & WAl Bl S=far 71 g | W BT &g HIfTg 3R U=A! & IR STy |
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The ratio of the road accidents due to Bus in the year 2008 to that by Car in the year 2012 is

e 2008 T T & HRUT 3R I8 2012 H HR &b HRUT §3 S gHe 3 HT U 1 8 ?
Options:

1) 2:1

2)1:2

3)2:3

4) 3:4
Correct Answer: 3:4
Candidate Answer: 3:4

Question 74.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.
TY IR W | 98 2008-2013 F GRM T 3R HR & HRUI §5 TSH U3 & WA Pl S=Tar 71 § | W BT 3(ea HIfoTg 3R U=A! & IR STy |
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The respective ratio between the accidents by cars in the year 2012, 2010 and 2009 is

ay 2012, 2010 3R 2009 H HR GRT g5 GHcAISH & o HHR: SIUTT R G ?

Options:
1) 2:5:4

2) 4:5:4
3) 4:3:2

4) 4:5:2
Correct Answer: 4.5:4
Candidate Answer: 4:5:4

Question 75.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.
TY IR W & 98 2008-2013 F GRM T 3R HR & HRUI §5 TSH gGUCI3N & TReAr Pl S=far 71 § | W 6T 1&g Iy 3R U=A! & IR T |

B0 . Mo of accidents by bus
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The ratio of the averages of the road accidents due to Bus to that by Car in the year 2008, 2011 and 2013 is

Iy 2008, 2011 3R 2013 & §9 & BRI 3R HR GRI G5 TSP GUcI3I B 3d JUTd R g ?
Options:
1) 4.5

2)5:4
3)5:1

4) 1:4
Correct Answer: 5:4
Candidate Answer: 5:4

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

LETHARGIC

Options:

1) ENERGETIC

2) LAZY

3) LETHAL

4) LEGAL

Correct Answer: LAZY

Candidate Answer: LAZY

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

MALLEABLE

Options:

1) TEACHABLE
2) INTRACTABLE
3) MANAGEABLE
4) PLIABLE

Correct Answer: INTRACTABLE
Candidate Answer: PLIABLE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.



Options:

1) Persemonious

2) Persimonoius

3) Parsemonious

4) Parsimonious

Correct Answer: Parsimonious

Candidate Answer: [ NOT ANSWERED ]

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Sooner had he come (A)/ his colleagues (B)/ organised a get together (C)/ No Error (D)
Options:

1HA

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I enjoyed during (A)/ my tenure (B)/ at Shimla (C)/ No error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The Government offered him (A)/ clerical job (B)/ but he turned it over (C) / No error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

After a noisy and tumultuous supper, we __ for the day.
Options:

1) retirement

2) retiring

3) retired

4) retire

Correct Answer: retired

Candidate Answer: retired

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The villager cried his voice for help
Options:

1) on the top of

2) in the top of

3) from the top of

4) at the top of

Correct Answer: at the top of

Candidate Answer: at the top of

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Simon teaches children water colour painting
Options:

1) the art on

2) the artin

3) the art by

4) the art of

Correct Answer: the art of
Candidate Answer: the art of

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Be down with

Options:
1) Suffering from








